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Time /494 : 2 Hours /9% Full Marks/‘{uﬁ'ﬁ : 306

!oteFfT‘Z :

(1)

(2)

(3)

Attempt as many questions as you can. Each question carries 3 marks. One
mark will be deducted for each incorrect answer. Zero mark will be awarded
for each unattempted question. '

ARFTE T F T FO T A B FAF WA 3 AF H ¢ T e W F
fog we o F@ SO TOF AFERG W F THE 3 AW

If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

of? wiE dwfors I Od I F Fiee vl &, @ Fewan o 3w &)

This paper comprises of Five Sections. Sections [ and II are compulsory
whereas only one Section out of If], IV and V is to be attempted.

WU T S WM @ I @ [ AfEd € safs avs I, IVI VE R

frft T W oI R0

Section—I

Gug—I

CHEMISTRY
{Compulsory for all)

1. Assertion, A : A real gas behaves like an ideal gas at low pressure and high
temperature.

Reasoning, R : Internal pressure of gas, (OE/oV )y =0

(1) A and R both are correct and R is the correct explanation of A

(2) A and R both are correct but R is not the correct explanation of A
(3) A is true but R is false
{4) A is incorrect while R is true

. 252)
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3.

(252)

Assertion, () A : UF RaRE N T 7@ ol 39 TR W @ o e B w
It i '

Reasoning, (FRor) B:ﬂam Haia @ /caE, (OE/8V)y =0

(1) AR &% & ok A & T R &% = 3

(2) AR RN &% € 3N A & ot R 3% =ror 7 2

3 AwTtfrg RyE }
(4) ATem & 3t R @l 2

W'hiéh of the following is the correct match?

(1) AG is zero spontaneous reaction

@) AG is (-e non-spontaneous reaction

| (3) AG is zero at equilibrium

(4) AA=AG | ideal gas in an isothermal process
WA 4 F9-w I A g ¥7

(1) AG=0 ¥ & wafda sfrfmn &

(2) AG (-ve &a1 } : avafda eififseen o

(3) AG=0 G W

4) AA=AG ¥ 2 ey e # wwardt wER % forg

Assertion, A : Meniscus of a liquid disappears at the critical temperature.

Reasoning, R : Density of a liquid and its vapour becomes equal at the critical
temperature.

(1) A and R both are correct and R is the correct explanation of A

(2) A and R both are correct but R is not the cdrrect explanation of A
{3) A is true but R is false

(4) A is incorrect while R is true
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Assertion, (W) A : FRA% UM W 3@ F1 Amaw T A ST T
Reasoning, (¥Rvl) R : Fi<® awaE ® 33 o 39 w9 1 w9 a9 B 9@ 2
() AR I &% & ot A ¥ R R = =ror 2

2 ASRRI % & sl A & R R S wram adf

B ATRIFg RIS ¢

4 ATeE ? iR R T}

The H-bond is present in
e -ae Rl 7
{1) H,S (2) H,O (3) HCI {4) H,0,

The incorrect values of an ideal gas constant, R =[PV |/{nT] are shown by

(1) [(1 atm) (22-4136 lit)]/[(1 mole) (27316 deg)] =0-08205 lit-atm deg ™! mole! and
[(1- 013x106 dyne cm~?) (22,4136 cm3)]/|(1 mole} (27316 deg)] =8-314x107 erg
deg™! mole !

(2) 8314 joules deg™ mole™! and [8:314 joules deg™' mole!|/[4-184 joules cal™!]
=1.987 cal deg™! mole™!

(3) 008205 lit-atm/deg/mole; 8:314x107 erg/deg/mole; 8314 joules/deg/mole and
1-987 cal/deg/mole

{4) None of the above

aed Nw Fe@rs, R =[PV |/[nT]| % #9-8 7eq 7o &7

(1) {1 atm) (22-4136 lit)]/[(1 mole) (273:16 deg)] =0-08205 lit-atm deg™ mole™! ot
[(1-013x10° dyne cm™?) (22,413:6 cm?®)]/[(1 mole) (27316 deg)] =8-314x107 erg
deg™! mole™!

(2) 8314 joules deg™ mole™ 3R [8:314 joules deg™! mole!]/[4-184 joules cal™}]
=1-987 cal deg™! mole ™!

(3) 0-08205 lit-atm/deg/mole; 8- 314x107 erg/deg/mole; 8314 joules/deg/mole 3R
1987 cal/deg/mole

(4) 70 @ 9 f 5§
- 3 (P.T.0)
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6. Which one of the following is correct match for the gaseous reaction?

Gaseous reactions Favoured by

(1) Endothermic and exothermic low and high temperatures, respectively
(2) Endothermic and exothermic high and low temperatures, respectively
(3) Endothermic low temperature
(4) Exothermic high temperature
e B e & Ry o @ S-w wd dw w20

g # srfifFar | qgdr 8
(1) Fowd it Femard F R At MWE | FHIER
(2) Fomundt R SemEd afer 3t &9 AMEHE W HHRER
(3) Sy F AEH R

(4) Semgd sifrs qram

7. Titration of warm (acidiﬁed) oxalic acid solution with KMnO, solution requires
(1) phenolphtha.lein as an indicator
{2) methyl orange as an indicator
{3) no external indicator:

{4) no external indicator since it is an example of autocatalytic reaction in which
K,MnO, is produced during the course of titration

™ () e W F O F KMnO, ¥ dw ¥ aw wRyww §
(1) fmicrdefm RF= =1 wm @ 2

(2) Aue s e = W@ D ?

(3) wTgt/eTem ¥ IRGFR | W@ T B &

(4) e ¥ REFR = W T T ¥ FifE w ww oTtals shfen = seEw 2 Rl
KoMnO, @ & affww & &9 @9 ey 2

(252) 4
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8. Which of the following is incorrect? .
{1) Elevation of boiling point is one of the colligative properties
{2) Frenkel and Schottky describe the defects in solids
(3} 1000 grams of water under ordinary conditions correspond to 55-55 moles

(4) Freezing point is one of the colligative properties

WA Fa-a e 27

(1) wETE fog # IFE wE owwen o R
(2) Bha R wieh g fi = /gUE Faw §
(3) T F 1000 W GWA FHFEN W 5555 i AT B

(4) T fog v o o

9. Which of the following is the correct match?
(1) Planck’s qualntisation | e =me? = hv
(2) Einstein’s relation g = me?
(3) Heisenberg’s uncertainty relation p=h/fi

{4) de Broglie relation Ax-Apzh/[4n

2 A i A e v Am Ry

(1) T F FIS £ =me? = hv
(2) AFAETH H gEFY £ = me2

(3) TS w1 AR W fage p=h/fM\

(4) & W = aEy Ax-Apzh/[4n

(252) 5 {P.T.O.}
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10. An electron is present in 3d orbital. What are the possible values of its four guantum
numbers?

(1) n=3;I=01and 2; m=0,+1 and +2; s=+% or -% for each of the values of m
(2) n=3;I=1, m=~1L0, +.1;S=+]/n or =% for each 61’ the values of m

8) n=3;I=2; m=-2-,0,+L +2; s =+% or - for each of the values of m

(4) n=3;I=3; m=0,11,+2 and +3; s=+% or —% for each of the values of m
wsdaﬁta%séﬁh%éqﬁawﬁmwwém%?

(1) n=3;7=0,13M2; m=0,213N +2; m N 7F 04 & fow, s =+% /@ -%

@) n=3;I=1,m=-10,+1; m N 7% [7a & oW, s=+% 39T -%

B) n=3;I1=2,m=-2-5,0,+1+2; m 9 7= 7= & Ry, s=+% v -%

4 n=3;I=3;m=0,2L123R 3, mA W@ F MW s=+% @1 -%

11. How does the half-life, 1,5, of a reaction depend on the initial concentration of the
reactant [ A]? Which is the correct match?

Dependence of 1, on [Al : Order of reaction
(1) 1y <[A)? II order
(2) tyz <1/[A]? II order
{3) ty9 is independent of [A] I order
(4) tyyac [A]Uz I order

{252) 6
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wh Al it ad-amg, vy, hEE, A F e s W R wER it sl {7 w0 @
F-u1 AW @ 87

Tiyp B [A] W fofm@n sfufEn & Ff
(1) 112 x[A) e =i
@ syp<l/[AR fedta AR
(3) 112, [A] ke 7 e 2 T FE
(4) 112 x[A]? Tom R

12. Assertion, A : Entropy of a pure perfect crystalline solid is zero at absolute zero.
Reasoning, R : Entropy is the outcome of third law of thcrmodynam_ics.

(1) A and R both are correct and R is the correct explanation of A
{2) A and R both are correct but R is not the correct explanation of A

{3) A is true but R is false

(4) A is incorrect while R is true

Assertion, (FR) A : & Yg T @R 3W Hi wdl = R F&fm = g3 o+ 2
Reasoning, (®WUr) R : 3Pt uafgrdafism % gdo-faw =1 wa R |
(1) AR & € ot A ¥ o R % o B

(2) AR IF & s A F M R &% =0 =

@ Ava R fFg R ?

4 AT R R RTdH R

(252) 7 (P.T.0.)
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13. Which of the following is true for the quantum yield?
(1) It measures the extent of quantization of energy levels
(2) It deals with the extent of quantization of Bohr’s atom

(3) It is the ratio of rate of formation of a compound to the intensity of absorbed
radiation

(4) It is the yield of the product during the course of a photochemical reaction
Fen Joag &y Feafafga § § FF-w o 27

(1) Joié = & fraft e gf & W 2

(2 IW-¥ew § et T g ¥ A @

(3) e 3 Pl M F T F ol A & Bfw A de w
(4) vFm-wEtE AffFn & &% g 1 3w wgy f IO R

14. Aqueous solutions of copper sulphate, ferric chloride and sodium carbonate are
(1) neutral in the first two cases while acidic in the third case
(2) acidic in the first two cases while alkaline in the third case
(3) acidic in the first two cases while amphoteric in the third case

(4) neutral, amphoteric and alkaline, respectively
FR The, Hiwh Felis R Aifdam FEe = e § d9|

(1} T @ ¥ Enfv da ® wofF f °f dfifew Q@
(2 T A F wRfeE wahs Gt F ey da

(3) wER A F offew wwiE AR § IwEefis d 2
(4) FUPER IgRAA, qmufis i e @ R

(252) 8
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Which of the following is a natural polymer?

(1) Teflon
(3) Polyester (Terylene}

* 3 @ d @ a-m aphe dehw R7

(1) Tw=
(3) diefde (0=lH)

(2) Nylon
{4) Cellulose

(2) ==
(4) I

Which of the following is not true for RNA?
{1} RNA exists as single chain (2) Sugar is ribose in RNA

(3) Sugar unit is deoxyribose in RNA (4} RNA contains 75 to 1200 nucleotides

T T AReTHoUe F T HF-w1 ¥ T 27
(1) ug el /w1 § a7 & (2) ™ § < wdag R
(3) W ¥ dFfi/vdu Setwidsa R 4) W H 75 § 1200 gfFoedzy a9 &

Which one of the following is incorrect match for the process /product and
manufacture?

(1) Ostwald process nitric acid

(2) Chambers process sulphuric acid

(3) Oleum is produceci during the manufacture of sulphuric acid
(4) Haber’s process - sulphuric acid

HH Y F-A WY N MEFR a0 AR F fou e A9 @ 2

(1) Jiwaws WA e fere

(2) Svrd wohw TARRE T

(3) Nfrm == R TarE e % Ak m f

(4) ¥ wEm Tl T

9 (P.T.O}
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18. Bonding in Hg} is
(1) ionic (2) metallic (3} . coordinate (4) covalent
Hg} & #-T1 svq 87
(1) s (2) afd® (3) STHEEASF (4) HFEAEE

19. Assertion, A : In qualitative analysis Ba?*, Sr2* and Ca?* must be tested in this
order.

Reasoning, R : They precipita’te as sulphate.

(1) A and R both are correct and R is the correct explanation of A

{2) A and R both are correct but R is not the correct explanation of A
(3) A is true but R is false

(4} A is wrong but R is true

Assertion, (WR) A : Tumews faveww # Ba?*,Sr2* ot Ca?* = st #0 & sfa &
[

Reasoning, (®W0) R : I ez &1 3@gy 33 &)

(1) ASRRIA & € st A % @ R &% = &

2) AR &% € st A & R R 5 = 1 2

B) Asa e g RY3 &

4) A7 § ot R &6 R

20. Which one of the following is correct?
(1) - Electropositive character increases from La to Lu
(2) Atomic volume decreases from La to Lu |
(3) Atomic volume increases from La to Lu
{4) Electropositive character decreases from Cl to I

(252} 10
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™ 9 BH-@ w7 27

(1) La @ Lu 7 w-Rh @gw sgan @ (2) La & Lu a% TO0]-ARGH oear @

(3) La ¥ Lu 9% TRN[-AG ¥gdl & @) Cl & 1 g-fagget @ wear §

The incorrect match is shown by

Overlap of orbitals Type of bond
(1) Axial overlap of s with s-orbital o
(2) Axial overlap of s with p, -orbital o
(3) Lateral overlap of a p, with p, or a p, with p,-orbital n
(4) Lateral overlap of a p, with p,-orbital n
wil & F-w Tw A @ 27
waF #1 Afdean O TR W W1
(1) T s F T s-F§F & a9 7 rfesmm o
(2) TF s F p -~F&F & €9 g kAT o

(3) @ p, | p, M p, F p,-F&F & Y TG Afvewm
(4) T p, T p,-FaF ¥ "4 U A

Which of the following is not true for the Bohr model of H-atom?
{1} Coulombic force = Centrifugal force
(2} Potential energy of H-atom =—e? /r

(3} Angular momentum is not quantized
{4) Electronic mass is ignored compared to nuclear mass

T @ F-T1 H-¥EW F S 6ide ¥ ufy o 78 20
(1) g o = SAwpe Bl

(2) H-tew & MRRua Sef=-e?/r

(3) WIeR-tid¥en F wE T

(4) afFam H wen K gom § w@EgE B 9E B Bg [ §
11

(P.T.0.)
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23.

24.

25.

(252)

In accordance with (n + 1) rule, levels filled up to 3p orbitals, the next electron will enter
into

3p FHF W TN F AE TN A (n+1) Fam ¥ gEr fBed smwm?
(1) 3d orbital (2) 4s orbital (3) 4p orbital (4t 4d orhital

Which of the following is incorrect?

(1) w «=Q (w is the weight of substance liberated at the electrode and Q is the gquantity
of electricity passed through the electrolyte}

| {(2) w«Q =ct {current in ampere x time in second)

(3) wolet

{4) w=2Z ct {Z being the electrochemical equivalent)

T ¥ PH-T T 27

(1) weQ (w R T = TR A wEE W ez da § o 0 WRiad ¥ fge .
& ")

(2) w xQ =ct (current in ampere x time in second}

3) woct

@) w=Z ct (Z WIRIFNFA FREAL 2)

Which of the following has dipole moment?
(1) O=C=0 and H,0O (2) HyO

{3) CO, 4y CCl,

i @ el Tt W da &7

(1) O=C=0 @ H,0 | (2) H,0

(3) CO, (4) cCl,
12
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Section—II
wug—II

MENTAL AGILITY
{Compulsory for all)

26. If the momentum of a body is doubled, the kinetic enex:g)r

(1) is halved {2} is unchanged

(3} is doubled (4} becomes four times

R el WA uw () B AT W R T, A R wRE s wg o 2
(1) st g S R (2) forga @ werht R

(3) ATH | wh @ (4) S A oS R

27. The law which defines force is

(1) Newton’s third law of motion (2) Newton’s first law of motion
(3) Newton’s second law of motion (4) Newton’s law of gravitation
a7 Frm St wa W ufonfa w@ R, 3@ we #

(1) =g * nia = dwo fem 2} I F i F= vgen Frw

(3) = =& nia =t fgdfw fraw @) =g F TEEARRY AR+ Fm

28. Find the odd one out from the following

(1) Carrot (2) Potato {3) Tomato {4) Ginger
frafafaa & @ =1 fim 2, iR
(1) TR (2) e (3) T (4) =

{252) 13 (P.T.0.)
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29.

30.

31.

32.

33.

(252)

Choose the group of letters which is different from others

frfofem # @ 39 ol ¥ wHg 9 9PY 9 Fe o A P 2
(1) ABD (2} HIK (3) VWZ (4) QRT

Choose the numeral pair which is different from others
frefifigs o ¥ N9 F A A-w dw A L, R g F P 27
{1) 70-80 (2) 54-62 (3) 28-32 (4) 21-24

Out of the following, spot the one which does not belong to that group

{1) Mercury (2) Moon {3) Jupiter (4) Venus
freafafan # @ @ RifRa AR, N & 37 wg § & o 2
(1) T (whd) (2) < (3) e (4) 3@

Neck is related to Tie in the same way as the waist is related to

(1) watch ‘ (2) belt (3) ribbon {4) shirt
¥4 f5 o 7 @ wafa R, O @ ¥ I gefRe @
(1) =@ 2) e A (3) fam @ @) w3

Find out the missing number in the following
frafafa & @ g & dEn F i
“ 9:80::7:7

(1) 48 (2) 50 (3) 78 4) 82

14
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Find out the correct entity which is missing in the following

Clock : Time : : Thermometer : ?

(1) Heat (2} Radiation (3} Energy (4) Temperature

fafoiga # ol w2 & o oW A W
% ; 9y ;. ymidie ?

(1) (2) IR ' (3) F=i (4) qIH

If the word GIVE is coded as 5137 and BAT is coded as 924, then GATE is coded as

AR GIVE w2 & RfEn H st 2 5137 ¥ 30k BAT H =Sy 6 oft § 924 4, @
GATE 6 =ifen «=n anft?

(1) 5427 (2} 2547 (3) 5247 {4y 5724
If a watch reads 9:00 O’clock and it is found that the hour hand is pointing towards
South-East, in what direction, the minute hand of the watch is at that time?

{1) North-East (2) North-West {3) South-West (4) South-East

AN THE G F O 99 W 2 o wE o W ¥ R R g fvegd H ok d@F9 F R,
@ e fr g w v few R & @ft?

(1) Fw-gd (2) Iee-ufeem (3) afrr-ufem (4) oftrn-gd

Which is the next number in the series given below?
Frafifen sjmen § ¥ el G AA-d ft?
7, 28, 49, 70, 91, 112, ... ?
(1) 135 (2) 134 (3) 133 (4 130
15 (P.T.0.]
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38. The missing term in the following series is
o sjae 3 g @ den A dnn?
 0,6,24, 60, ..., 210
(1) 117 2) 119 (3) 120 @) 126

39. Find the wrong number in the following series
frefafgs gwen & SR ww F= 27
7, 28, 63, 124, 215, 342, 511

(1) 7 (2) 28 (3) 124 4) 215

40. Find out the missing number in the following figures
frfafes § 9@ gf wen = @i

(ol o]
NN BN P
(1) 52 (2) 36 3) 117 (4) 81

41. Sunita ranked 11th from the top and 27th from the bottom in a claés. How many
students are in the class?

Gha s A F TR A LT A R R ER AR A 279 R W A @ T § e R
#? -

(1} 38 (2) 28 (3) 40 (4) 37

" (282) | 16



12.

43'

45.

(252)

11U/102/23 Set No. 2

Which letter occurs most often in the following word?

Preffn vz ¥ - Y o 2, S Fr AW w27
APPROPRIATE

(1) A 2 E 3) R 4 P

Aand B are brothers_. C and D are sisters. A’s son is D’s brother, How is B related toC ?

(1) Father {2) Brother {3) Grand father {4) Uncle

ARBEA A CcMmpAN TR AFAIm DT 21 @t B C ¥ 71 gy
27

(1) fom (2) Wi @ @ (4) =

Which one of the following is always found in ‘Bravery’ ?
feafefas § & *F-81 1@ @AM ‘Bravery’ # wmn it &7

(1) Courage (2) Experience (3) Power {4) Knowledge

How many triangles are contained in the figure given below?

frafafan Yanfam & frad B (grfies) #7

(1) 8 2) 10 3) 12 4) 14

17 (P. T.0.)



11U/102/23 Set No. 2

46.

47.

48.

49,

(252)

In a group of cows and hens, the number of legs are 14 more than twice the number of
heads. How many cows are there in the group?

T gifa F w o d, R e R B TR 14 RE wag
et e #?

(1) 5 @ 7 @) 11 4) 12

Which one of the following crops is not a pulse crop?

(1) Mustard (2) Pigeon pea (3) Black gram (4} Moong
Prfafes woel § 8 FR-3 woa g 6 wae 6 207

(1) 2) :mat 3) I° (4) ¥§n

Indian Institute of Sugarcane Research of ICAR is located in

(1) Kanpur {(2) Allahabad (3} Lucknow {4) Varanasi
I WER F PN AIEYE g o we i R

(1) Mg i (2) FEER A (3) wET= A (4) “moRd &

Out of the following superstars of the Indian films, who was awarded the Padmashred
National Award during the year 20107

{1) Kareeha Kapoor (2) Hema Malini

(3) Rekha : (4) Rakhee

P wehta Reeft gen s # @ AR B9 2010 § TE T TR R T 27
(1) F F1 (2) T wferft (3) Y {4) o

18
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50. Mahakumbha Mela of the year 2010 was held in the city of
{1) Varanasi (2) Chitrakoot (3) Haridwar (4} Allahabad
T 2010 %1 WEIE™ VA TR T 47 WK

(1) SRt 2) FEEe (3) sfgr (4) TSR

(252) | 19 (P.T.O.)
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51.

52.

S3.

(252)

Section—III
wug—I11
PHYSICS and MATHEMATICS

{Physics)

Which of the following pairs has the same dimensions?

(1) Specific heat and latent heat (2) Momentum and impulse

(3) Tension and surface tension (4) Angular momentum and torque
frfafgn & & fre Wi 6 fam qm 27

(1)ﬁmmwww (2) T T HEAN

(3) T T Y8 T (4) Ffg Fam @ s@ s

A particle of mass m moves on a circle of diameter r with a constant speed v. The work
done by the force acting on the particle in moving from one end of the diameter to the
other is '

m GER W TE O AW TS JW W AW N v § TAEEE R FO R T A wA g
=g ¥ R 3 gE R 9% w0 @ wom § Ren T e R
2

' 2
ntmy (3) ommu? (@) muy
r 2r

(1) mmo? (2)

When a rocket is launched into space, which of the following is conserved?
(1} Energy {2) Energy and momentum

{3) Momentum {4) Angular momentum

Sq THe W iR F yafie e s R, @ feafafea 4 @ e @ 7

(1) w=i (2) oo W @A (3) wWW (4) #ofir waqm

20
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56.

S6.
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Flywheel serves the following role in a steam engine

(1) increases the speed (2) maintains uniform speed
(3) decreases the moment of inertia (4) gives strength to the engine
Ty wrers W% s 9w A Prafafas @ swEph R

(1) wfe F =g } (2) T N wETH @@ 2

(3) @ U W FH H@T R (4) T # vF wgH *EaT R

The change in potential energy of an object of mass M in moving it from the earth’s
surface to a height equal to its radius R is

M Gefa acht a5g # gy f Ay @ SR fisw R ¥ auw = % wem 3 fafw et R
B AN gfEds @
MgR

MgR @ 2= (3} MgR (4} 2MgR

M = 4

Absorption of ink by blotting paper is due to the phenomenon of
{1} viscosity (2) diffusion {3) osmosis (4) surface tension
HiGa wF BRI W@ TE9 w0 e e 3 d R

(1} vE=a (2) feramo (3) O ' (4) U8 T

Absolute temperature of a gas is determined by
(1) the total number of molecules

(2) the number of molecules in unit volume

(3) the average momentum of molecules

(4) the mean square velocity of molecules

21 (P.T.0,
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ot @ & T an Fefafaa g Puifa @ @
(1) el @ F@ dew (2) T8 e ¥ e f e
(3) el @1 offwa M (4) o F I T A

58. If the kinetic energy of a moving object increases to nine times the initial value, then it
new momentum will

(1) remain unchanged (2) increase by a factor of two
(3) increase by a factor of three (4) increase by a factor of four
s frdt Tiefer @ @ vfee Sed Aph @ S, @ IEE T wan

(1) smfafda | (2) AN A TR

(3) & s (4) SO @ S

59. The spectrum of solar radiation consists of

(1} line and continuous spectrum (2). line and band spectrum

(3) continuous spectrum {4) band and continuous spgctrum
dr Wags e g F=| A R

(1) W@ vd "q0 wan 2) Wear w de wFm

(3) & WHRH (4) ¥z @ da7 @ARA

60. Which of the following has no definite melting point?

(1) Carbon dioxide {2) Glass
(3) Mercury - {4) Gold
frfiaa # @ e e RfRE T da?

(1) wrfr smafaarss (2) #f=
(3} T (4) @i

(252) 22
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61. Which of the following is most suitable for measuring a temperature of 500 °C?

(1) Pyrometer (2) Mercury thermometer
(3) Thermocouple (4) Alcohol thermometer
fam § @ #19 500 °C TR TR % foR walew @ 27

(1) 3w mdt (2) 9 amETd

(3) TmAg I (4) RS arond

62. Sound travels fastest in

{1} iron (2} vacuum {3) water {4} air
wafy FrefaRen § watfe o & e =@ 2
(1) @m (2) frata (3) wet (4) &

63. The concept of expanding universe is based on the observation of
{1) aberration of star’s light (2} Doppler effect
{3} black hole (4} white dwarf
yarlt Fae A uwon Fraforiaa Yaor w omnia

(1} R F W = fagem (2) TR woTE
(3) F= fsg (4) ¥&a I

64. If the earth’s atmosphere had no gases, the length of day would
(1) be same as at present
(2} increase
{3} decrease

{4) increase in winter and decrease in summer

(252) 23 (P.T.0.)
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65.

66.

(252)

IR gt w1 aREsa I ean, @ 7 A dad
(1) IFh & gt Rredt orm B (2) =g
(3) we st (4) wrel & ag It T ™ F w2 wh

Laser light is produced by

(1) black-body emission (2) stimulated emission
(3) fluorescence emission (4) spontaneous emission
AW W TEW T IER § s qa R

(1) Foe gz (2) SAfE Jewsf

(3) wiadw I (4) =a: I

Which of the following will lead to an effective capacitance of 12 pF from 3 identica
capacitors each of capacity 8 pF?

(1) Connecting all of them in series
(2) Connecting all of them in parallel
(3) Connecting two in series and one in parallel

(4) Connecting two in parallel and one in series

frofaflga § fra § et eiftar 12 pF @0ft sefe e 8 yF oifm ¥ @R dufa wgs R
o ?

(1) @R Joft w7 F S W

(2) TR TR H MNF =W

3) A F oft 7w F R ™ AN @R F AT W
4 o R i F M A ot F AT W

24
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67. FElectric current through an electrolyte is due to drift of

(1) positive and negative ions {2) electrons

(3) electrons and holes {4} protons

faga vz f fge o7 = vaR fefifa ¥ sgeE gE w2
(1) 9% TH RURHS IR (2) T

(3) T4 W A= (4) WA

68. The charge transferred through its terminals is measured by

(1) a tangent galvanometer {2) an ammeter

{3) a Helmholtz galvanometer {4) a ballistic galvanometer
frafafes & & w7 o A & A= fge om@aw % wmiawo #t T 27

(1) & Freamni (2) wiiR

(3} ¥ewEreew eEiiw (4) AfRw Aearinfim

69. Which of the following is not made of soft iron?

(1} Magnet of loudspeaker {2} Core of transformer

(3) Core of dynamo {4} Electromagnet
frefofies 3 & sF-m o @ # T8 w0 A7

(1) whfyams = 3= (2) ZTHEEHET T S
(3) IEAW W AT - 4) P g

70. A straight wire of resistance R in a d.c. electric circuit is twisted to from a helix, then its
resistance will

(1} increase in a.c. (2) decrease in d.c.

(3) remain unchanged in a.c. {4) increase in d.c.

(252) 25 (P.T.0.)
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w WY AR ® Dowflo figa ufmy ¥ R R R W Ff F ow A A3 R 9™, @ ==

g
(1) Uodfto ¥ wg AR (2) dodfto # w2 SAM
(3) uworfto ¥ Iuffda wm (@) Eotho ¥ wg M

71. Amplification in a triode is produced by the action of its

(1) plate (2) filament (3) cathode (4) grid
e $ yadt g sk Prefifed Tew % e R
(1) = (2) fremie {3) i (4) fire

72. An intrinsic semiconductor at absolute zero temperature would become
{1} a perfect conductor {2) a perfect insulator
(3} a superconductor {4) an extrinsic conductor
T YA TG W TF SR SHEEE 8 SR U
(1) o e (2) i fga Akt

(3) o A (4) o T

73. The Franck-Hertz experiment proved that

{1) nucleus is positively charged
{2) electron orbits in ‘atom are circular
(3) internal energy of atom is quantized
{4) electron has spin
Fw-gw M g T fag gen?
(1) affme ¥ garos Ry & (2) vy § geiwgl A wad gaRer Bt €
(3) Ty H AR I FFd Mt @ (4) wwE § B g R

(252) 26
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If the voltage applied to an X-ray tube is increased, then the

(1) minimum wavelength increases (2) intensity increases

(3} intensity decreases (4) minimum wavelength decreases
IR X-fm Afww 3§ oW Tt Seen ag § IR, @

(1) 7w qiresd &1 qF @G SR (2) fwrar wg s

(3) digar T2 At (4) gHan aOeH H HHE ¥ IRAW

5 milligrams of matter when fully converted into energy would yield
(1) 4.5x101' J (2) 45x10° J (3) 9x10° g 4) 9x10° J
5 fufenm g7 # Tof ®7 @ I ¥ EUEiG FW R W {1 et FAt anft

(1) 4-5x10'' s[@  (2) 45x10° §@ 3) 9x10'° s@ (4) 9x10° @

27
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(Mathematics)

76. Value of sin 50°-sin 70°+sin 10° is

sin 50°-sin 70°+sin 10° & 71 2

1 .
1) 1 2] — 3 2 4 0O
(1) {2) 7 3) v (4)

77. The equation of a line which cuts off intercepts 3 and 4 at x and y axes will be
3@ W@ H GHIR S X~ qA y-FW W 3 T 4 H Ad: TGOS Fedl 2, B

1y 2.8 2 2+¥-1 @) X-¥ @ X-¥_
3 4 4 3 3 4 4 3
78. If map f:I' - R, f{x)=log x, then the vatue of f(x}+f(y) is

afe wfdfasn £:I7 5 R, f(x)=log x, & f(x).+f(y)ih‘r a2

(1) flx+y) @ flaw) @) f[i] @) f[y.)
y x

79. If a player completes 2200 metres race in any circular path with 7 revolutions, then the

radius of the circular path is [ =%2-J

(1) 30 metres (2) 40 metres (3} 50 metres (4} 60 metres

w fgardt aft gamr v & 7 @ 9w e 2200 fRX H A3 @ F@ ¢, @ W FIER
7y H = R (n =¥]

(1) 30 X (2) 40 #Hix (3) 50 = (4) 60 Wi

(252} 28
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The solution of the following equations
mx+ny=m-n
nx-my=m+n

will be
fom wfot =1 o=
mx+ny=m-n
nx-my=m+n
B

(1) x=my=n @) x=-my=—n (@3 x=-Ly=1 4) x=Ly=-1

The flow of a river is 2 km /hr. A sailor can sail the boat in calm water with a speed of 3
km/hr. Then the speed of the sailor against the flow will be

(1) 1 km/hr (2) 2 km/hr {3) 3 km/hr (4) 5 km/hr

@ @ % a7 2 /e 2, @ s T @ § 3 feft/aa @ e A 9@ g g 2,
4l 9@ & faufm Tfaw N 9@ anft

(1) 1 feft/awa (2) 2 fdt/ao (3) 3 feft /e (4) 5 fft v

The value of the expression

[(x2 +3x +2) (x2 +5x +6)]U2

x? (Jnc2 +4x +3}
in simplest term will be

H

[(x2 +3x +2) (x2 +5x+6)]
[ x?(x% +4x+3)

F A T 92 § gm

x+3 (2) xX+2 3) x+1 (4) x+3
x+1 X x+3

29 (P.T.O.)
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83.

85.

(252)

In an ei;uilateral triangle with side x, the length of the altitude will be

(1) f—-‘/:» units (2) x2 units {3) 3_c_£ units 4) x \E units

V3

x 1 9 wF wwarg Brge F a9 R

xv2 xJ§ 3
(1) ——szmi 2) —J_—ﬁli 3) Tﬁré @) x\gmﬁ

The equation ax? +2hxy + by? +2gx +2fy +c =0 represents ellipse if

T ax? +2hxy + by? +2gx +2fy + ¢ =0 dign & WeRiT wa@ ¢ 1R

(1) h<ab (2 h>ab (3) h?>ab 4) h%<ab

If x3 +y3 +2z3 =3xyz and x +y+2z=0, then the value of

(x+y)?  (y+2)?  (x+2)°
xy uz Xz

is

R x3+yd +2% =3xyz M x+y+2z=0, W

(x+y) | (y+2)°  (x+2)°
Xy yz Xz

A R

(3 (2) 2 3 0 4 1

30
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The value of
1 1 1
1 1+x 1
1 1 1+y
is
1 1 1
1 1+x 1 |wwm 2
1 1 1+y
(1) {(1+x+y) {2) xy 3} (1-x-y) (4} (1-x}(1-y)

The mode of 2, 2, 2, 3, 5,5, 5,6, 6, 8 8 8 and 5 will be

2,2,23,55,5,6,6, 8,8, 87 5 F IgI=H oM

(1) 2 2) 6 3) 5 (4) 8
The maximum value of f{x) =§-x3 —2x2% +3x+1is

f[x):%xa ~2x% +3x +1 F TEwH WA }

(1) 7 @ 1 @ 2 @ 1

If "C, ="C,_; and "P, = "P,,,, then the values of n and r will be

IR "C, ="C,, AW "P, ="P.,, A x I y & A7 @AW

(1} 3,2 (2) 2,3 3 S5, 2 @ 2,5

31
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90. lim J(1+x}—J(l~x) is

x-20 x

x>0

ﬁmJ(1+x)~J(1-x} 3
x
(1 3 2) 1 (3) 2 4 O
e I e B T
91, The value of [a+b, b+c,c+a]is
5 5 T o -

la+b, b+c, c+a]® ad 2

- - > >

(1) (25 e)? @) [ab el 3) 2[ab ¢c] @) 2[ab c]?

92. If the roots of the equation 2x2 —8x +k =0 are equal, then the value of k will be
a2 g 2x2% —8x+k =0 % 0@ TR &, W k = 9 B

(1) 2 2 4 (3) 6 (4) 8

93. The value of "2 LS.Jic—.f.zb«:is
0 3+4sinx

j-atfi-’ cos.x dx = _%

0 3+4sinx

(1) %[log(3+2\/§)—log3] ' (2) ;‘,:[log{3+2-\/§)+log3]

(3) L[log(3-243)-log 3] (4) i[log(3-2v3)+log 3]
94, The sum of the infinite series 1+2-'}-+3--—}—+4-—1~+--— is

3 32 33

s it 142143 L ia L o e T
. 3 32 33

(1 % @ 2 B & 4 8

(252) | 32
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If arithmetic mean and harmonic mean of a and b are A and H respectively, then the

value of a-Aa, b-A is
a-H b-H
qﬁaﬁtb%mmmmmm=AaﬂtHﬁ,ﬁa'}‘:x%'ﬂm%
a— -
aA bA A H

) == 2) 22 3) = 4 =
(1) bH @ aH @) H Y A
The solution of the differential equation 9y =cos X +x is
s wiEm Y - cos x+x W EE 2

2 2

X C . X C
1 =cos — = 2 =sin x +—— +—
(1) v X+=+o (2} y=sin 7 o

2 2

X C X C
3 =tan x +—+— 4 =$EC X +— +—
3) vy X+ 35 4) y 5o

If A={2,58 1114} and B={1 357,911}, then AnB will be
R A={2581114} 3 B={1357911}, * AnB &m
{1} {5711} 2) {235} (3) {511} 4) {7,14}

A car travels 432 km on 48 litres of petrol. How far would it travel on 20 litres of petrol?
(1) 150 km {2) 160 km (3) 170 km {4) 180 km

W FR 48 ¥ 3T | 432 el € wm w1 20 diR P @ I et gf B A
= ?

{1} 150 faflo {2) 160 o 3) 170 fmfe (4) 180 o
33 (P.T.O.)
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99.

100.

(252)

The radius of the base of a cone is 7 cm and height is 24 cm, then the slant height of
the cone is

(1} 24 cm (2) 25 cm 3) 32 cm (4) 35 cm
w TF % R H fewm 7 e w24 Who B, @ Wy H st Iand 2
(1) 24 3o (2) 25 Ffte (3) 32 o 4) 35 ¥io

A shadow of a tower is ¥3 times the height of the tower, the angle of elevation of the
sun is ,

& W B oEn eR 9 B V3 T 2, gd W oaww am
(1) 60° (2) 90° (3) 30° 4) 120°

34
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Section—IV
@IV
BOTANY and ZOOLOGY
(Botany)
101. Citric acid is produced by

(1) Aspergillus niger (2) Streptomyces lactis
(3) Acetobacter suboxydans (4} Candida utilis
R enw Irfew @ R |
(1) werfem TR 3 (2) R dfRw |
(3) ddIn FEfwidw & (4) ez g 3

102. Which one of the following is not a genetic vector?

(1) Plasmid {2} Phage (3) Cosmid (4) Desmid

e § @ F ongaifie aeE T8 § 0
(1) =fe 2) ¥ (3) weE @) e

103. The first transgenic crop was

{1} tobacco (2 flax (3) pea {4} cotton
ygell g wad ot
(1) dwITR (2) weFE (3) 7R (4} =IS

(252) 35 (P.T.0)
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104. Botanical name of pomegranate is

(1} Grewia asiatica (2) Punica granatum’
(3) Emblica officinalis (4) Zizyphus mauritiana
AR F ATERE AW R

(1) 2w gt (2) g B3

(3) F=aferwr onfRRmAforE 4 Ffsrea mifamr

105. Cryopreservation of germ plasm is done at

(1} 0°C (2) 100 °C (3) -196 °C 4) -273 °C
werey @ frafierays o s @
(1) 0°CwW 2) 100 °C W (3) - 196 °C W {4) -273 °C W

106. Producing new plant by cells instead of seed is

(1} tissue culture {2) amphimixis
(3) meromixis {4) impossible

#iw & fole Fw g B A% = I Foh

(1) foey womt 2 (2) whfufRm 2
(3) FfufRea R ' (4) FmeE R

107. Somaclonal variations are
' {1) caused by mutagens (2) caused by gamma rays

{3). produced in tissue culture (4) produced during sexual reproduction

dmEEra fafmad o §
(1) | g 2) T frolf gm (3) R wem ogm (4) &% wW F g

(252) 36
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110.

111.

112.

(252)

Mycorrhiza helps in mobilization of

(1) calcium (2) phosphate {3)
TEFIEST ey § Wed H@l 2
(1) Hfcqam & (2) ®EHE * (3)

‘Sharbati Sonora’ is a result of

(1) aneuploidy (2) polyploidy (3)
‘YREdt @R wferms 2

(1) wamdt &1 (2) TeiwERd # (3)

Which is the man-made cereal?
(1} Wheat (2) Rice 3)
FA-T mAe i o €7

(1) ¥ 2) =Ea (3)

Herbicides are used for elimination of
(1) chromosomes (2} plant diseases (3)
TiagE fFas SR ¥ Tg® B 87

(1) FmEE % (2) W WW F (3)

The place from where agriculture began is
(1) Nile (2)
(3) China River Valley (4)

37

magnesium

AfiRmw &

hybridisation

T F

Triticale

Foic ]

aphids

ufrgE %

(4)

(4}

(4)

4)

(4)

(4)

(4)

- 11U/102/23 Set No. 2

water

mutation

IafEdT &

Barley

weeds

digy (@m@Er) #

Northern India Plain

Sri Lanka

(P.T.0.)
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113.

114.

115.

116.

(252)

a3 ww wgl & 3 g
(1) f= (2) 98 wra Ag@ (3)

Hybrid vigour is due to

(1) crossing over (2) hnkage {3)
Trfie Rem g R
(1) #fém s & (2) faFw A 3)

Dionaea is known as

(1) pitcher plant (2)
(3) sundew plant (4)
T, freafafea § ¥ g @ @ S S R0
(1) fer den (2) da v 3T (3)

Coir is obtained from

(1) Linum (2) Cocos (3)
TR YW B R
(1) =" & (2) Tfaw & (3)

Inflorescence in banana is

(1) umbe! (2) spike (3)

Fe T TTHT A R

(1) == (2) s (3)
38

heterozygosity

FeSrgTiRE |

venus fly trap
bladder wort

gy e

Saccharum

J5m A

4)

(4)

{4

(4)
(4)
(4}

(4)

(4)

chiasma

e @

AR T2

Crotalaria

EaCiiio

cymose
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118,

119.

120.

121.

(252)

Wart disease of potato is caused by
(1} Taphrina (2} Synchytrium (3)
AR F AR AN wAl g

(1) eww @ 2) Rafas a (3)

Damping-off of seedlings is caused by |

(1) Erysiphe (2) Pythium (3)
Rm o7 defm N e o R
{1) Tome @ (2) iftrm @ (3)

Ergot is obtained from

(1) Penicillium (2) Claviceps 3)
e YE fF S 2

(1) Ihfrm € (2) FGEw @ (3)

Six fundamental biological elements are

B gend Sfas 79 §

{1) C,H, O, N, A, P (2)
(3) C, H, O, N, P, Mg (4}

Which of the following is an auxin?
(1) ATP (2)

(3) Phosphoglyceric acid (4)

39
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Phytophthora {4) Alternmaria

FIETRIT @ (4) MeIRaT |

Puccinia (4) Fusarium

g & (4) w=Ew @

Rhizopus (4) Agaricus

uEEieE |/ (4) TIRww A

C,N, S, P, Na, Hg
C, H, O, Mn, B, Cl

Indole acetic acid

Pyruvic acid

(P.T.0.)
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122.

123.

124.

125,

(252)

Frafafas & & =W sifRE 27

(1) Tdodo 2) o Rlw e

(3) wenficais e {4) TR e

Preferable soil for plant growth is

{1} loam {2) sandy soil (3) clay (4) marshy land
o # oI & R e o R |

(1) = (2) &= qa (3) = (4) wrel g

The root nodule of leguminous plants contains

(1) Streptococci (2) Staphylococci (3) Rhizobium (4} Bacillus
AIgfeg Pt A o kel F da R

(1) Qdwrms () RiEPwE  (3) R (4) e
In RNA which one of the following is true?

(1) Adenine in place of thymine {2) Thymine in place of guanine
(3) Uracil in place of thymine (4) Thymine in place of uracil
AR oW oUo # frefafas 4 @ a»’h-mugi %?

(1) oA ¥ A W (2) WHR F ®™H R aF

(3) s ¥ = w RRw . @) e F ™ w a7

Tetradynamous condition and replum are characteristic features of family

(1) Malvaceae (2) Leguminosae (3) Asteraceae (4) Brassicaceae
e e wd foam fra e & Rfte agw €2
(1) =Rt & (2) Agfirieh ¥ (3) T ¥ (4) #faFd &

40
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128.

129.
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(Zoology)

Mendel selected Pisum Sativum for his experiments because
(1) it had certain advantages

(2) it was not used by earlier scientists

{3) its chromosomal constitution was known

{4) he was interested to obtain improved varieties

Fowr 3 oy il & RY Umew wemaw @ g Wi

11U/102/23 Set No. 2

(1) v g5 fafead f (2) oA IR v ¥ AwPet g g W
(3) % TR At G TR oAt (4) T8 fawRe yonfa o w7 T 9

The zoological name of cockroach is

(1) Musca domestica (2) Homo sapiens

(3) Periplaneta americana (4) Biston betularia

Fog w1 Ayl o R

(1) BT i (2) gt g

(3) YiwTmaer smfwmr (@) feT dgafa

Foramen magnum is found in
(1} lower jaw (2) sternum (3) vertebra

WERY I T R

(1) froet s & (2) wHn # (3) Feh &

Paramecium is an example of -

{1) Annelida (2) Porifera (3) Protozoa

41

(4) skull

(4) @ #

4) Coelentérata

(P.T.0.)
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130.

131.

132.

133.

(252)

FfRem o % IgE 27
(1) wfa=t 2) 9w (3) NI

[n earthworm, a pair of ovaries are situated in

(1) 12th segment (2) 13th segment
(3) 14th segment = (4) 15th segment

Fqu % fra g § wh N owww B @ R7
(1) I"ga & (2) @ G (3) digE we

Nereis is found in

(1) seawater (2) pond (3) forest
Fg e umn s 27

(1) w4g (2) v (3) =

Which one of the following is a fish?

(1) Starfish (2) Jellyfish (3) Silverfish
frafafea § @ 39 o woe 27
(1) =i (2) Sy (3) foeadrm

Which one of the following is called as living fossil?

{1) Gorilla {2) Orangutan (3) Calotes

fPefafer 4§ @ fras Shida shamn w3 &7

(1) miEn (2} AR (3) Feifem
42

@)

(4)

(4)

(4)

(4)

(4)

(4}

(4)

river

Hilsa

Sphenodon
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134,

135.

136.

137.

138.

(252)

First vertebra in the vertebral column is

(1) axis (2) urostyle (3) atlas
AT F TS FGF B wed B
(1) = (2) TR (3) T

A very good example of animal with Sangnivorous habit is

(1) Palaemon (2) Plasmodium {3} Leech

_thﬂéna qoft = AT I 2

(1) ¥eftm (2) <efEaR (3) =

The theory of natural selection was proposed by

(1) Darwin (2} Dobzhansky (3) Lamarck
e T w1 fage frerd g wRua fen mn?
(1) e (2) Fraduh (3) <k

The diploid number of chromosomes in human is

T # gt i Ry den gt ¥
(1) 44 (2) 46 (3) 48"

Egg-laying mammals are found in

(1) India (2} Japan {3) Canada

MR TR weah = T e ¥7

(1) WRa (2) s (3) e
43
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4)

(4)

(4)

(4}

(4)

(4)

{4)

@)

(4)

pygostyle

TR

Fasciola

Hfaana

Mendel

42

Australia

e feran

(P.T.0.]
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139.

140.

141.

142,

143.

(252)

In pond ecosystem, zooplanktons are considered as

(1) producers (2) tertiary consumers

{3} primary consumers (4) secondary consumers

e miEs § mitreEs @ €
(1) Ireeh (2) g o (3} uW ITAIEHI

Insulin is secreted by

{1} thyroid gland (2) kidney
(3) parathyroid gland {4) pancreas
Wi = aw feas grr @ 27

(1) om=g uf (2) 7% (3) wag ufy

Salivary amylase digests starch in

{1} mouth {2) stomach {3) duodenum
frm am o dfoed TS wHE w1 UeE WA 27
(1) 7= (2) W (3) sfEm

Haemoglobin is found dissolved in the plasma of

(1) human (2) frog {3) bird
dreif s em § gen o S 82
(1) =g (2) 3FF (3) waft

4) e s

4) F=mE

(4) jejunum

(4) g™

(4) earthworm

4) Fgan

Man needs carbohydrates as a source of energy and gets them from

(4) None of them

(4) +ré off 7

{1) cellulose {2) starch (3) both
7 H I F ol Feienge A snawEd At ¥ o g frew fierd #7
(1) e @ = @ 2

44



144,

145.

146.

11U/102/23 Set

Cell theory was proposed by

{1) Schleiden and Schwann {2) Jacob and Monad

{3) Khorana (4) Watson and Crick

Fiftm fogra fFeR wRufea e a7

(1) ®heT st =@ (2) 9= sl wee (3) guwn (4) aged o fF=

A classical example of analogy is furnished by

(1) appendages of prawn (2) forelimbs of frog and rabbit
(3) wings of insect and birds (4) forelimbs of camel and horse
Trgfera #1 IFE I R

(1)9"&11%%33‘%: (2) ¥ o wiw ¥ sEUE

(3) $ i ol *® qw (4) FzZ IR dY F WU

-Colour blindness in human is caused due to

(1) sex-linked recessive mutation {2) sex-linked dominant mutation

147.

(252)

(3) autosomal dominant mutation (4) autosomal recessive mutation
= # fsium W owEm R

(1) fom wgem sl Feiad (2) fom sgem wweh Jerfarda

R —— U ey G -

Which one of the following blood groups is considered as universal donor?

= A #a-w w T gPEda @ wEam 22
(i) A 2) B (3) AB 4 O

45

No. 2
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148. Amoebiasis in human is caused due to

149,

150.

(252)

(1) Giardia (2) Plasmodium vivax

(3] Amoeba Proteus (4} Entamoeba histolytica
g # ol fReE gRT 3EE At R 7

(1) Fraféa (2) wrAEm AT

(@) swfar T | 4) weenar RefiRH

Y-chromosome plays an important role in sex-determination in

(1) fruit fly (2) grasshoppers (3) honeybees (4) human
Y-1orga frad Rm fufor § et drem s 27
(1) %a1 & wael 2 fm (3) e H wEh (4) =

Which one of the following is considered as connecting link between annelids and
arthropods? '

(1) Peripatus (2) Archeopteryx (3} Julus (4} Polygordius

frefafigg § @ 217 i @ oo ¥ A9 o=foe &@ el sl 27

(1) (2) nfFareiEg (3) ™ (4) widimfdaa
46
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Section—V

@|e—V

AGRICULTURE

181. Highest irrigated State of India is

(1) Rajasthan {2) Punjab (3) Uttar Pradesh (4] Tamil Nadu
v w1 gatvs fafm usa @
(1) T=A (2) v (3) I WeW (4) aftrerg

152. Which of the micronutrients is most useful for sugar production in sugarcane?

(1) Magnesium (2) Iron {3) Copper (4) Zinc
™ § R fmin ¥g feafifes § @ F9-@ g 79 TR AR anEEE R7
(1) foitfirm ) @ (3) dm=n (4) vt

153. How much percent of oil is obtained from groundnut?
Tmeeh ¥ TR § fheY sfowa dw qrm S 7
(1) 20 (2) 30 (3} 45 (4) 60

154. Highest area of saline alkaline soil is in State of

(1) Uttar Pradesh (2} Bihar (3) Gujarat {4) Madhya Pradesh
wavia qm g oqft @ Aeeer e wew § waifuw 7 |
(1) S| =W (2) fram (3) ToRm@ (4) AEEEEY

(252) - 47 (P.T.0.)
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155.

156.

157.

158.

159.

(252)

Most productive soil of India is

{1) alluvial soil (2) saline soil (3) red soil
Rd § TEE 39S uQ @

(1) g qa (2) i (3) =@ 7T

Percentage of sulphur in pyrites is
stseE 0 frad wiiwe wewt dar 27
{1) 10-12 (2) 22-24 (3) 30-32

Which of the following elements is not micronutrient?
{1) Copper {2) Boron (3) Sulphur
A2 R T ol § We-w gas T M & R A A7

(1) @ (2) AW {3) W

Highest pyrites is found in which State?

(1) Uttar Pradesh (2) Bihar

(3) Andhra Pradesh (4) Tamil Nadu
TUReE T S R R o an #7

(1) 3W =W (2 forew (3) sTENEH

Pcrceni:age of sulphur in gypsum is

o § gewm B wfowe wEn qef ot 2
() 15 2) 18 (3) 25

48

(4}

{4)

(4)

“)

(4)

(4}

(4)

black soil

FIet 9

40-42

Iron

ey

30
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160. Planning Commission was established in

Qe M T w4 g7
(1) 1948 (2) 1950 (3) 1952 @) 1954

161. Most important unit in farm management is
(1) production unit (2) marketing unit
(3) cost fixing unit ' (4) budget unit
83 yET ¥ el vgw g4t R
(1) 3o @ (2) Foom (3) T Pk W (4) smE-wE g

162. Food Corporation of India was established in
wredE @ R eren w= g8 ?
(1} 1960 {2) 1963 {3) 1965 (4) 1968

163. Reserve Bank of India was established in
widig fod d% A v Fa gl
(1) 1930 (2) 1935 (3) 1938 (4) 1940

164. Total population of India in crores according to 2001 Census is
WA & SHEEE SEET 2001 ¥ AFER R w03 R7
(1) 100 (2) 102 {3) 104 {4) 105

165. National Bank for Agricuiture and Rural Development (NABARD) was established in
Trard f T wE gE?
(1) 1979 (2) 1981 (3) 1982 (4) 1983
(252) 49 (P.1T.0.)
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166. Pandit Deendayal Upadhyay Veternary Science and Animal Research University is
established at

(1) Agra {2) Aligarh (3} Mathura {4) Kanpur
df¥a drae surear ayfufsan fRgw o i smeuR R Fwe R 27
(1) s @) swhg @) wm (4) F

167. Central Dairy Farm is situated at

(1) Etah (2) Aligarh {3) Agra {4) Faizabad
¥ 20 v Tt R 27

(1) @& (2) Mg (3) M (4) HemErg

168. Carbohydrate of cow milk is

(1) sucrose (2) glucose (3) lactose (4) fructose
T ¥ 3 F FEEEIE 2
(1) g&a (2) qHH (3) dAF L

169. In India artificial insemination was started in
A § Fhm miue wed e w9 gen wi?

(1) 1939 (2) 1940 (3] 1941 {4) 1942

170. Per day requirement of salt to a cow is

T T W A T o R

(1) 20-30 gm (2) 50-60 gm (3) 70-80 gm (4) 90-10C gm

(252} 50



171.

172.

173.

174.

175.

(252)

Cakes are rich in

(1) fat (2) protein

| ghel ¥ R T o 37

(1) == 2) WA

Mastites disease is of '
(1} blood {2) teats

wiren s I e g 27
1) ™ (2) A | ATHT

Biggest animal fair of India is

(1) Bateshwar (Agra)

(3) Sonpur {Bihar)

R F Y TG TR ﬁﬁ T R?
(1) R (3wm)  (2) AR (TRW)

11U/102/23 Set No. 2

(3) sugar (4} salt

©{3) W (4) w&u
{3) bones (4) sex organs
@) et @)

(2) Annad {Gujarat)
(4) Kangra (Himachal Pradesh)

(@) e () (4) W (REEa Rw)

In leguminous crdp pink colour of root nodules is due to

(1) nitrogen (2) calcium

Teeh waa B 9 H R § e o g R

(1) 1 (2) =q

Black soil is most useful for

(1) wheat (2) gram

Fich i & R waffs swErh waa 2
(1) M {2) ==

51

{3) sulphur (4) leg haemoglobin
(3) TF (4) = funefE

(3} cotton (4) patsun

{3) *u™ (4) w28

(P.T.0.}
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176. Percentage of protein in chick pea is

=1 ¥ W = e @ 2
(1) 12-15 2) 21-24 3) 30-33 (4) 36-38

177. National Soyabean Research Centre is situated in

(1) Indore (2) Pantnagar (3) New Delhi (4) Gwaliar
T dea sgEaE g R R
(1} =N (2) TR (3) 7 fagh (4) wferm

178. Percentage of zinc in zinc sulphate (monohydrate) is
for wobe dFeEee § s wfwe o A R

(1) 25 (2) 30 (3) 33 (4) 35

179. In Dapog method of rice cultivation seedling becomes ready for transplanting on

{1) 20th day ~ (2) 18th day {3) 19th day (4) 12th day
a9 Im # g 3y § o & e fy m R e R
(1) 20 f=i ® 2} 18 fe # (3) 19 Rt A (4) 12 Tt &

180. Percentage of P,O5 in FYM is
TR $ @R § P,0, 9 wiwe wmn A &
(1} 025 (2) 050 (3) 075 (4) 1-00

181. Rihand Dam is situated at

(1) Bihar (2) Punjab (3) Uttar Pradesh {4) Orissa

(252} 52
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fige sy &g 2
(1) foem # (2) Tow ® (3) I W= 3 (4) dm #

182. Central Goat Research Institute is situated at

(1) Makhdu Farha (Mathura) (2) Bicvhpuri (Agra)
{3) ljjatnagar (Bareilly} (4) Bharari (Jhansi)
FEE wH IgETE A R R

(1) FegwEr (W) H (2) Fegh (srm) &
(3) TR (Weh) § (4) Wl (wieh) &

183. Average weight of one egg of hen in gm is
it % o ovd W oftwa wr ey Tw dr 37

(1) 30-40 {2) 50-60 {3) 65-75 4y 35

184. Percentage of digestible ¢rude protein for animals in berseem green fodder is
sdm & ® = oyelt ¥ fw wem D fdw o sRee wEn S R

(Iy G5 2) 1-5 3) 25 {4) 35

185. Spleen is related to
{1) digestive system (2) excretory system
{3) respiratory system {4) blood circulatory system
e w1 gy R R7

(1) R 9F (2) I aX (3) aaT @ (4) R

(252) 53 (P.T.O.
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186. Number of teeth in rabbit is
|oONE ¥ T AN §
(1) 20 2) 24 (3) 28 4) 32

187. Paddy flower has

- {1} 3 stamens {2) 4 stamens {3} 5 stamens (4) 6 stamens
97 % gE A B §
(1) 3 g (2) 4 gFm (3) 5 YHa 4) 6 YW

188. Berry-berry disease is due to the deficiency of vitamin

-0 o frw i A w=h ¥ 9 27
(1) A @) D (3) B 4 C

189. Percentage of water in human body is

s F Wi § ueht i sfevm oen @ 2
(1) 35 (2) 45 (3) 55 (4) 65

190. Oxidation of one molecular glucose releases the molecules of ATP
RS F T A F s § edetto ¥ o) Freen 8
(1) 26 (2 30 {3) 34 {4) 38

191. High-yielding varieties programme (HYP) was started by Government of India in

(1} 1964-65 (2) 1966-67 (3) 1968-69 (4) 1970-71
Safaeie Tefe Ffwn wrg TR Y Iy R
(1) 1964-65 ¥ (2} 1966-67 # (3) 1968-69 # 4) 1970-71 #

(252) 54
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192. Meadquarter of Food and Agriculture Organization is in
(1) Rome (lialy) {2) New Delhi (India)
(3) New York (USA) (4} Moscow [Russia)

S TS BN W (QHus) w1 geney #E R 7

¥ (g (@) T R () (3) wEE (FowHore) (4) WER (TW)
193. First Doordarshan Centre was established in India in

WG A TETYT AN W TR R TG g

(1) 1957 (2) 1959 (3) 1961 (4) 1963
194. Generally pepaya plants bear fruits after _

{1) six months (2} twelve months

(3} eighteen months (4) twenty-four months

W ude w0 9g fwat R e wa @ R0

(1) 3NHE (2) HE WE (3) TZRE =R (4) =g =
195. Dwari mango plant is of variety

(1} Malika (2} Dashari {3) Amrapali (4) Langra

MW H U3 F B HE w WA B

(1) "t (2} (3) smwareh (@) @S
196 Maximum percentage of protein found in vegetable is

(1) bhindi {2) tomato (3) cauliflower (4) pea

fra sl A wida Y gaifus e orft St 27

(1) o=t (2) A (3) Hrhed (4) AR

(252) 55 (P.T.0.)
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197.

198.

199,

200.

Most essential element for cultivation of potato is

(1} calcium (2} sulphur (3) potassium
I af ¥ e wa it M it e 27
(1) Ffamm (2) Tuw (3) urfiEm

Pulse crop belongs to the family

(1). Cucurbitaceae ({2) Cruciferae {3) Umbelliferae
e wEe R 9 & ot Tt €7
(1) Fwfad (2) FHHh (3) omaeht

Indian Institute of Pulses Research is situated at

(1) Kanpur (2} Lucknow (3) New Delhi
T T AgEEA ¥ o R
(1) SRR A (2) o&S A (3) # g A

No. of incisor (teeth) of cow is

(1) four (2) six {3) eight
ma % FH (gE) H qen o R
(1) =R 2) @ (3) M3
* % %
56

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4}

zinc

Peplionaceae

Y

Varanasi

IR ®

ten
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avafedi & fog frdw

(38 YR & wqm AE-T8 W AW IR-F & A W R Faw Aeh @ Felt aw-wwe 7oA @)

1,

10.

11.

12,

13.

4.

T giae e % 10 e 3 ot ff 3w & fR owmw # woft g owisg € ot wiE W
ga TE &) g Q9 UY 9N W R gE aohle wa-eE e gl yee &
T iR T oWt o) |

Tha wed § forwmwr Wed mEw-vA @ falie, o W oW A o gen w e Wiy # 9 @)

IR-T Fem T w v ¥ 5@ 7 A ok 7 & Fgw B g90 TOe-vT 767 R a@m a0 IO
7 ¥ & qewmed fEm ardm

mmﬁmm—wwmmm—wwﬂqﬁﬁuﬁawﬁﬁml

ITH-T F 999 Y8 W 4 v awarw Fwife e w fad g R R g W my W )
wel-wel smevaw € wel sWe-gfaew @ waie 9@ ¥ W ver sfae Wl v fad

3l THo o TA T ITIHU® Wedl, WH-Tidgw ¥& g ¥ dwn (A} #E §) v vo-yiad W
Wﬁofﬁmi‘iﬂoqqo Woﬁ'@oiﬁﬂﬁﬁ?@fﬁmﬁﬁqﬁﬂﬁﬁl

IS wfafeel & R o ufadm ww fies 3o v @ wifed st 98 us SfEa Wi wan
A A

w-gfe@ § udw Y9 & W) dwteuw IR A T ¥ yew g & deive s @ ford smvel swe-
v7 F gratyd e & TR B T3 g0 @ Sw-UT & W9 B W R4 a2 e F sgar 9 @ wey
w &

TAE Y F IR F O el UF R g9 B MG A QA AfuF gH A MY FA W AUE TH
ga # oo W W FF IW T WG SR

e 2 fr T SR TR R 3iRFd IR aSen e o Gadl &1 aft omu Rl W @ w7 g wned
Eﬁm@adﬁ%ﬁﬁ&@nﬁqﬁaﬂwﬂ%ﬁltﬁmm{mwf@aﬁm

F #8 & o we-yfad ¥ qEys & IR 99 g 9 sifem gg W wm w® )
e F IO FAA oTRoARe IW-YF Wiew vaa F W W )
Than WHE 9 W UES Tlew wad ¥ Wl W H AN AE A

IR #E sl W ¥ smfa WAl w1 W aa &, @ g favafrmem g feifa < wal, v
g7 i
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